43.

45.

46.

(i) kMnO 4 OH™
f =C —>
The product of CH = CH H
is
(A) CH,COOH
(B) |('.'OOI-I
COOH
(C) CH,CHO

(D) CH,CH,OH'

The monomer for the polymer which is
used for coating cooking vessels to make
their surface non-sticking is

(A) CH,=CH,
(B) CH,=CHCI
(C) CF,=CF,

(D) C4H,CH=CH,

The monomer for this polymer is
prepared from cyclohexanone :

(A) Nylon 66
(B) Nylon 6
(C) Dacron
(D) Rubber

This polymer is present in cell walls of
plants :

(A) Starch

(B) Chitin

(C) Poly-isoprene
(D) Cellulose

47. This contains hydrocarbons with carbons
in the range of Cy, — Cy; ¢

(A) Paraffin wax (B) Kerosene

(C) Bitumen (D) Petrol

48. Bergius process converts the following
into gasoline.

(A) CO+H,

(B) Wood
(C) Coal +H,

(D) CO,+H,

49. Ammonolysis of RX gives
(A) Amine (B) Amide
(C) NH, (D) RCN

+
50. CH,NC — 5 will produce products
including :

(A) CH,COOH
(B) CH,CONH,
(C) CH,CH,NH,
(D) HCOOH

51. What is chloral ?

“a

(B) CCl,COCH,

GHO (D) CHCI

(A) CH, (B) CH,=CH,

(C) CH=CH (D) HCOOAg

12 BIMCé6



(i) KMnO,, OH~ o
43. CH=CH — > FISIR |
(i) H 4
(A) CH,COOH \
(B) COOH ety e |
COOHI \‘Qu‘l
(C) CH,CHO

(D) CH,CH,0H

44, UGS W T IEAD BT @M THH & Fa1
& HaE R oy i 9mar & @i S W s A
forass -

(A) CH,=CH,
(B) CH,=CHCI
(C) CF,=CF,
(D) C4H,CH=CH,

45. T 9D P1 UHAP QGRS § a1
SmaTE :
(A) A 66
(B) @6
(C) S®F

(D) =

46. TE IgH Ul B PR AR FeEEa R
(A) '™
(B) ®reei
(C) uiehmgamsi
(D) Hege

BIMC6 13

49.

T ETggIaE & ford B ot e Cy ) -
Cyp P IRERAR

(A) H=afts 5w (B) fdi@miaa
(C) fagim (D) g
afSraw v gR1 A & el § aRafaa
fraroran®

(A) CO+H,

(B) &1

(C) ®wen+H,

(D) CO,+H,

RX % UiH-31q9e 9§ Wi grar &

(A) = (B) wEs

(C) NH, (D) RCN
cH,NC —, b o ww e
(A) CH,COOH

(B) CH,CONH,
(C) CH,CH,NH,
(D). HCOOH

(B) CCl,COCH,

(D) CHC,
FARIGH B Ag oi & T i = W@
BraTE ’

(A) CH, (B) CH,=CH,
(C) CH=CH (D) HCOOAg



53.

54,

55,

56.

§7.

58.

A  mixture of CH3COOC2H5 +
CH,CH,CH,COO0OC,H4 was saponified.
The alcohol(s) produced will be

(A) C,H;OH
(B) CH,OH
(C) CH,CH,CH,OH /

(D) CH,OH+ CH,CH,CH,0H

Victor Meyer’s test of a secondary 4 |-
alcohol give the following colour : -
(A) Red (B) Blue
(C) White (D) Green

O, does not react with this directly.

(A) P
(C) Na

(B) CI
(D) S

Which will quickly adsorb O, ?

(A) Alkaline Pyrogallol solution
(B) Conc. H,S0,

(C) Lime water
(D) Alkaline CuSO, solution

Oleumis 7
(A) Castor oil [ 4
(B) Mustard ol -0
(C) Fuming H,S0, \ ¥

(D) Ol of Vitriol

This is a peroxide :

(A) KO, (B) BaO,

(C) MnO, (D) NO,

14

Repeated use of this fertilizer increases
soil acidity.

59.

(A) Urea
(B) Superphosphate of lime
(C) Ammonium sulphate

D) KNO,

ich one will liberate Br2 from
tion of KBr ?

A) HI (B) SO,

(€). €L D) 1,

61. Which one is paramagnetic ?

(A) CLO (B) CIO,
(©) Cl0, (D) CLO,

62.  The reaction of glass with HF produces :

(A) SiF, (B) H,SiF,
(C) H,Si0, (D) NajAlF,

63.  Which one has the highest lattice energy ?
(A) RbF (B) CsF
) NaF (D) KF

members of this pair produce same
upon reaction with H,O :

(B) Na,Na,0,
(C) Ca,CaH,

(D) Ba, BaO,

BIMC6



53.

54.

550

57.

58.

CH,COOC,H + CH,CH,CH,CO0C,H; |
P GG B R ¥ Iepge U1 epea ¥ |

&1 Ao T g1 yi !
(A) C,H,OH |
(B) CH,OH

(C) CH,CH,CH,OH

(D) CH,OH+ CH,CH,CH,0H

v fRreras sremiEe % @ e Faw e
Fgg T fieand:

(A) @t (B) en

(C) W@ (D) &

0, 77 < e <5 3 Affopa e e
(A) P (B) CI

(C) Na (D) S

P @ 0, BemeRa R ?
(A) &R IRRITA faegT
(B) wr= H,S0,

(©) Fmarh

(D) & CuSO, R

aiferam &

(A) FREITA
(B) wREiFIIA
(C) wH,S0,
(D) ffgsi@® e

T8 TP WRATFARS &
(A) KO,
(C) MnO,

(B) BaO,
(D) NO,

BIMC6 15

59.

60.

“61.

62.

39 IS BT AR STIRT FST B IA1ga

) R
P A BT YRGBT
‘ao‘b (C) M aare
(D) KNO;,
%1 Br, 1 KBr fea & g oy ?
(A) HI (B) SO,
(© CL, D) 1,
T A PH SFRDIIE ?
(A) CLO (B) CIO,
(©) CLO, (D) CLO,
g HF & aififhan o8 Sa=1 avane
(A) SiF, (B) H,SiF
(C) H,SiO, (D) NajAlF
.\, 5 & e 2 v v 2
“¥ (A) RbF (B) CsF
(C) NaF (D) KF
$A g S S aaw H,0 & e aifdfesar ax
T & 79 FT ST FRA &

(A) K, KO,

(B) Na, Na,0O,
(C) Ca, CaH,
(D) Ba, BaO,



65.

67.

69.

70.

71.

Cane sugar reacts with HNO, to produce

(A) HCOOH

(B) COOH
COOH

(C) CH,COOH

(D) CH,CH,COOH

Which ore is not concentrated by frothe,
floatation ?

(A) Galena

(B) Copper pyrites
(C) Sphalerite
(D) Argentite

Which alloy contains a non-metal ?
(A) Invar (B) Steel

(C) Bell metal (D) Bronze

Which one shows paramagnetic property ?

(A) CO, (B) SiO,
(©) SO, (D) Cio,
This cannot be reduced by C :

(A) Fe, 04 (B) Al 0O,
(©) PbO (D) ZnO

i gl
Which is always present in pig irgn in
maximum % ? "

(A) Mn
(©) Si

(B) C
(D) P

The half life of Tritium is about
(A) 12 years (B) 12hrs
(C) 12 min (D) 12sec

Lo

”

16

72. Hydroformylation of olefins produces
(A) RCOOH (B) RCHO
(C) ROH (D) R-R

* (round water constitutes the following
i of total water available in the world

. (B) 0.2
(©) 20 (D) 0.6

74.  In this compound, H,O molecules are in
the form of interstitial H,0:

(A) [CHOHy ™"

(B) [Ni(OH,) " .
(C) CuSO,.5H,0
(D) BaCl,.2H,0

75. Which compound can be formed by use
of soap in hard water ?

(A) Calcium stearate
(B) Sodium stearate
(C) Sodium oleate
(D) None of these

ing :
NO (B) NO,
Co, (D) H,

77.  This gas has the highest binding constant

with hemoglobin :
(A) O, (B) CO
(©) Co, (D) N,

BIMC6



65. = ® waex HNO, & e aifafbar ax
IeqTE YA &
(A) HCOOH
(B) COOH

COOH
(C) CH,COOH

(D) CH,CH,COOH

66. % 3w o) B I fafty gRTEfvea =&

s <tman 2

(A) e

(B) BN URTET
(C) wheiRge
(D) si<re

67. 3 5w fismng H erng B & 2
(B) &
(D) vl

(A) =R
(C) Fo-urg

68. B TS I YUISACATE ?
(A) CO, (B) SiO,
(©) S0, (D) CI0,

69. SEH1C GRINTIT TE el :
(A) Fe,0, (B) ALO,
(C) PbO (D) ZnO

70. sHAFHTIRTAR T wiRE% TS ?

(A) Mn
(C) Si

(B) C
(D) P

71. gRRTA$HasH g e
(A) 127d (B) 122
(©) 12 (D) 129

BIMCé

e

T

72. TP P ERGIBICIHERY SUE BT &

(A) RCOOH
(C) ROH

(B) RCHO
(D) R-R

el Bt Tl % A e 5@ # am

(B) 0.2
(D) 0.6

74. TG H H,O 31 sl s &1 @
BNE:
(A) [Cr(OH,)J*"

(B) [Ni(OH,) >
(C) CuSO,5H,0
(D) BaCl,.2H,0

75. WEA S HOR T H SN FRA W B Al
i o B Hpar e ?

(A) Sfeagnfreite

v faeg & ama A gfg FTHROIR

(A) NO
(©) Co,

(B) NO,
(D) H,

77, uE i A % e et T RS

ERUCI K
(A) O, (B) CO
(C) CO, (D) N,

17 a



78.

79.

80.

81.

82.

83.

This is a component of photochemical:
smog :

(A) HCHO (B) CH,CHO 3.
(C) HCOOH (D) CH, ¥l

Leakage of this gas caused Bhopgl g
tragedy : \°

(A) NO,
(B) CH;N=C=0
©) ¢,

. (D) Brz

The light reaction in photosynthesis
involves

(A) Photolysis of water
(B) Formation of sucrose
(C) Formation of AMP

(D) Formation of glucose
Cellulose is not present in clothes made of
(A) Silk (B) Cotton

(C) Linen (D) Rayon

This does not reduce Tollen’s reagent :

(A) Glucose (B) Mannose
(C) Sucrose (D) Lactose

!? e
‘F’ is a single letter code for this amilf{) g
acid : i 5
(A) Cys (B) Val
(C) Phe (D) Pro
This is a purine :
(A) Cytosine (B) Uracil
(C) Thymine (D) Guanine

|~

e

18

8s.

86.

87.

89.

e GA) 10

—

90.

921,

:’j. (49

Which of the following does not have a
metal-carbon bond ?

B C,H;MgBr
) K[PH(C,H,)Cl;]
Ni(CO),

Which one is not optically active ?
(A) Glycine :

(B) Lactic acid

(C) Aspartic acid

(D) 2-Chlorobutane

Which is both paramagnetic and coloured ?
(A) KMnO, (B) CuF,

(C) K, [Fe(CN)] (D) K,Cr,0,

Nembutal is
(A) Analgesic (B) Tranquilizer
(C) Antiseptic (D) Antihistamine

At what ppm concentration, C/, is used
for disinfection of drinking water ?
(B) 03

ﬂ.\ 30 (D) 13

=
This i§ an antimicrobial :

? ysozyme (B) Aspirin
Norethindrone (D) Glycogén

Omeprazole is
(A) Sulphadrug (B) Antibiotic
(C) Antihistamine (D) Antacid

BIMCé6



78.

79.

81.

82,

BIMC6

Y& USRI 4 Blex H1UF e &
(A) HCHO (B) CH,CHO
(C) HCOOH (D) CH,

e et g e R v gd [

(A) NO,

(B) CH,N=C=0 \ ¢ |
©) Ci, ,_\11__
(D) Br,
HHTI-HTAYYT 3 FHIR fwfhaet & kM
g

(A) oTd &1 HHRIg-3TaeT

(B) epre 1 ffor

(C) AMP 1o

(D) TegISt o fFor

T a7 T ¥ A TE BT

(A) Y™ (B) »u™

(C) W (D) YT

& AT F ANHH P BT ST TE Y1

(A) o (B) ¥t

(©) gom (D) wae

P 39 srf o BT R PSR
(A) Cys (B) Val B

(C) Phe (D) Pro

TG IR |

(A) wEeRiF (B) It

(C) grrfF (D) TarFF

19

87.

91.

oy & e T e ey T 2
(A) Al(OC,Hy),
(B) C,HsMgBr

B STEDI AR T 2
(A) KMnO, (B) CuF,
(C) K, [Fe(CN)] (D) K,Cr,0,

TqeA®

(A) dems (B) werids
(C) yfomeh (D) wfifewer=
fober w1 ity < o Y s W CL, Y o
% forg IrmopeTel T BT Rt & 2

(A) 10 (B) 03

(C) 30 (D) 13

T8 U3 NRgEfas &

(A) EaNTET (B) AR+
(C) arRufFEgH (D) TaRBSH
AT &

(A) Tm13ief (B) ufifas
(C) wfafeeifm (D) wfdsra



92.

93.

94,

95I

This is a reversible reaction

MnO, y
(A) 2KCIO; ———>2KC/ + 302 /

(B) BaCl,+H,S0, - BaSO, + 21\1(::

(C) SnCl, +2FeCly — SnCl, + ”FeC%!\

R

(D) N, +3H, - 2NH,

For N, + 20, == 2NO,, the
equilibrium constant is 100. The ch for

1
NO, &= 37N, + O, at the same
temperature is

(A) 1 (B) 0.1

(©) 10 (D) 0.01

1 mole CH;COOH was mixed with 1
mole of C,H;OH and 1 mole of H,0. At
equilibrium, 54.3% acid was found to
have been converted into the ester. The
Keq for esterification is about :

(A) 2 (B) 4

(©) 6 (D) 8

In the manufacture of NO accordmg to
the equation N, + O, ¥ 2NO - heat

b3

formation of NO is favoured by N\

S

(A) Low temperature
(B) High temperature
(C) High pressure

(D) Low pressure

i

4
p

A first order reaction is 75% complete in
72 minutes. It is 50% complete in the
ollowing number of minutes :

(B) 18
(D) 9

3 96‘

The rate of a reaction is equal to the rate
constant. The order of the reaction is

(A) O (B) 1
(C) 2 (D) 3

98.

This is a weak acid

(A) NH;
(B) H,S
(C) HCIO,

(D) NH,NH,

99.

In polybasic acids, if K |, K_,,, K3
~are first, second and third ionisation
constants, following is correct :

(A) Ka.’- = Kuf! =
(B) K, >K;>K,,

(O K> Kp > Ky

K803 = Ka] = Kaz

100. /'F following is correct about
Mo @ RS trolysis of dilute H,SO, :
i G‘&

(A) O, is liberated on cathode.
(B) H, is liberated on anode.
(C) O, is liberated on anode.

(D) SO, is liberated on cathode.

20 BIMCeé!



92. B TD Iopavitg AMHfaTd

Mr;O2
(A) 2KC!O3 —m-—)ZKCI + 302
(B) BaCa’2 + HZSO4 —2 BaSO4 + 2HC/
M

(C) SnCl, + 2FeCly — SnCl, + 2FeCl, . *

(D) N,+3H, - 2NH,

93. N, +20, +== 2NO, & f 7 fRRi®
100 & | ¥t qrwH ) NO, ;===\.%N2 +
0, #1 K, &M
(A) 1 (B) 0.1
(©) 10 (D) 0.01

94. CH,COOH %11 #id C,H;OH % | #a
3R H,0 & 1 #iw & wry il fsan man |
[RATIRYT R 54.3% 37 1 Gex § gRad=
wmwmwﬁmaﬂl(eqw%:

(A) 2 (B) 4

) 6 (D) 8

95. N, + O, = 2NO - Fo G &
AR NO & Fmior # gos) swergar e ;

(A) Prram \
(B) Seaam
(C) =@

(D) fr=iTE

BIMC6

96. TP wuH Hife B Afwfebar 72 e § 75% qob
BN T8 50% ot B & ge et

(A) W36 (B) 18
D) 9
P X TP A7 fRRTF F RN E |
BafeE
(A) 0 (B) 1
(€) 2 (D) 3

98. UWEUHIIAIAE
(A) NH,
(B) H,S
(C) HCIO,
(D) NH,NH,

99. agaRa ort ¥ WK, K, K, wm,
ferefr e gefta s R €, A P wdt &
(A) K;3>K,>K,, |
B) K, >K;>K,
(©) Ky >Ky>Ky

iy (D) Ki3>K,,>Kp

(A) O, PSR &R & |
(B) H, Tils W ad eRfl & |
(C) O, TR RYFERNE |

(D) SO, FAS R AT ERA & |
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